©0.400 [10.10]

1312 [33.32]

r——>r> 0620 [15.75]

LOGO AREA

(IF APPLICABLE) El E COVER HALVES
ot
0.220 [5.60]~—’—
U U

©0.255 [6.480]1

©0.210 [5.33101

©0.285 [7.2410]

90320 [8.13101 ©0.315 [8.00]

DIMPLES

COMPRESSION INSERT TREE
Qry. 1

e

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0531 06-MAY-05
B | ECN 0600 10-AUG-06
C | ECN 0628 24-JAN-07
D | ECN 0643 24-JAN-08
E | ECN 0644 08-FEB-08
¥#4—40 X 7/16” FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL NO LOGO NORTECH LOGO

FINISH — BRIGHT ZINC
QTY: 2 EACH

E‘:k#‘«wm #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

FILLISTER HEAD CAPTIVE SCREW
HEAD STYLE — SEE PAGE 2
MATERIAL — SEE PAGE 2
FINISH — SEE PAGE 2

QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

CONNECTOR COVER:

1.MATERIAL: ZINC ALLOY

2.FINISH: BRIGHT ZINC PLATING PER NTC SPECIFICATION N/T 000100
3.DIMENSIONS: \NCHESE ]

4.TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 £5 TYPE A PER ASTM D2240

1. ALL DIMENSIONS ARE IN
INCHES (MM

2 DMENSIONS ARE TYPICAL

4.DIMENSIONS: INCHES
5.TOLERANCE: +0.020 [0.508]
e Northern s Eeail 3 okl
Technologies TECHNGLOGLES VRITTEN PERMISSION

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CM 15 METAL COVER
THIS IS A _CONTROLLED DOCUMENT AND IS JSD 20-MAR-05
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE CHECKED SIZE | CODE DWG NO. Rev
LATEST REVISION S 20-MAR-05 B 200_102 0002-200-102
ISSUED
20—-MAR—05 |SCALE NTS ‘ SHEET 1 OF 2

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/parts/5409951/C88E000207.html

PART NUMBER INFORMATION

PART# WITH #4—40 X 1/2" CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E821153 NO LOGO COVER TOP BULK
A29E921150 NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C88E000211 NO LOGO PACKAGED
C88E000207 NORTECH LOGO PACKAGED
PART# WITH #4—40 X 7/16” CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB211531 NO LOGO COVER TOP BULK
A29E9211501 NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C88E0002111 NO_LOGO PACKAGED
CB8E0002071 NORTECH LOGO PACKAGED
PART# WITH M2.5 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E821153M25S | NO LOGO COVER TOP BULK
A29E921150M25S | NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C8BE000211M255 | NO LOGO PACKAGED
€88E£000207M25S_| NORTECH LOGO PACKAGED
PART# WITH M2.6 X 12.7MM_CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21153M26S | NO LOGO COVER TOP BULK
A29E921150M26S | NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C88E000211M26S | NO LOGO PACKAGED
C8BE000207M26S | NORTECH LOGO PACKAGED
PART# WITH M3 X 12.7MM_CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21153M3S | NO LOGO COVER TOP BULK
A29E921150M3S | NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C88ED00211M3S | NO_LOGO PACKAGED
C8BE000207M3S | NORTECH LOGO PACKAGED
PART# WITH #4-40 X 1/2" CAPTIVE SCREWS (PHILLIPS HEAD) | SUPPLIED
A29E821153PS NO LOGO COVER TOP BULK
A29£921150PS NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C88ED00211PS NO LOGO PACKAGED
C88E000207PS NORTECH LOGO PACKAGED

THI
SUBJECT TO CHANGE.

LATEST REVISION.

IS IS A CONTROLLED DOCUMENT AND IS
. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE

SLOT HEAD
(TOP VIEW)

REVISIONS

PHILLPS HEAD@
(TOP VIEW)

SPECIFIED

1. ALL DIMENSIONS ARE IN
INCHES [UM

Technologies

NOT BE REl
TECHNOLOG

ZONE REV DESCRIPTION DATE APPROVED
FILLISTER HEAD CAPTIVE SCREW
THREAD LENGTH HEAD
e h Faa MATERIAL PLATING
‘ #4-40 UNC_ |1/2 INCH sLot COLD ROLL STEEL ZINC
B #4-40 UNC_ [7/16 INCH sLot COLD ROLL STEEL ZINC
M2.5 X 45MM | 127 MM sLoT LOW _CARBON STEEL| 7INC
M2.6 X 45MM [ 127 MM sLoT LOW CARBON STEEL| ZINC
M3 X .SMM 127 MM sLoT LOW CARBON STEEL| ZINC
#4-40 UNC__ | 1/2 INCH PHILLIPS |LOW CARBON STEEL | ZINC
UNLESS OTHERWISE Northern TS pavas s e eropeeny o

T NORTHERN

PRODUCED WITHOU
IES WRITTEN PERMISSION.

2 OMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CM 15 METAL COVER
JsD 20-MAR—05

CHECKED SIZE | CODE DWG NO. REV

SCN 20-MAR-05 | g 200_102 0002-200-102
ISSUED

20-MAR-05 | SCALE NTS ‘ SHEET 2 OF 2

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/parts/5409951/C88E000207.html

